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REEDEE +%8 Frv ol
A=30m 11,000
30m< A=100m 14,000
100m < A =200m 18,000
200m < A =500m 29,000
500m < A =1,000m 49,000
1,000m < A =2,000m 66,000
2,000m < A =5,000m 120,000
5,000m < A =10,000m 160,000
10,000m < A =50,000m 220,000
50,000m < A 440,000
1 FEAREZZ T TVAEVEEYOBS
REEDEE &% Frv ol
A=30m 13,000
30m< A=100m 14,000
100m < A =200m 19,000
200m < A =500m 30,000
500m < A =1,000m 50,000
1,000m < A =2,000m 70,000
2,000m < A =5,000m 130,000
5,000m < A =10,000m 170,000
10,000m < A =50,000m 230,000
50,000m < A 460,000

v EEMOIFINX—HENEOR LEICHTIERICRIE
EEBOHIERMOTTRERFFHRMERGHEE)

REEDEE +%8 Frvoill
A =300ni 10,0008
300 < A =1,000nf 17,000
1,000 < A =2,000nt 28,000
2,000m < A =5,000m 83,000
5,000m < A =10,000m 132,000
10,000m < A =25,000m 166,000
25,000m < A =50,000m 208,000M
50,000m < A 291,000M

I BEMOIFNF—HENEORLEFICET2ERICHRIE
EEBOHZEEMORTREFFFHRRMER (XE)

[—FEToE=E]

FREEDEE &% Fxv o
(AEX % L) 5,000
[(HREEE]
REED & +48 Fxy oM
A =300nt 10,000
300 < A =2,000n( 21,000
2,000n7 < A =5,000n 46,000
5,000nf < A =10,000ni 83,000
10,000 < A =25,000m 134,000
25,000ni < A =50,000nt 202,000

50,000ni < A

306,000
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